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M1 X 20188 % A - M= 0asSH & ZAHEZ LA NLE = A= FHDNH2 s 20 (ol M)
-+ =2 Ng - HE0&tEN 2 Al Xt Bt N

g A 1,112,100, 000 33,363,000
& B3 Al 929,400,000 27,882,000
SEE3A 182,700,000 5,481,000
SILSES A 52,000,000 1,560,000
A= ZIHSEN 28,800,000 864,000
St==SJIHSE 3 23,200,000 696,000
JIEtSE3 A 130,700,000 3,921,000
=N EE A 4,822,000 144,660
S ESHISES A 2,358,000 70,740
FUASTNI LU AISEI 843,000 25,290
MOIEASSEXNF2ESE N 3,507,000 105,210
FEIALE SE A 703,000 21,090
X ==Atd SE 3 18,931,000 567,930
FAE2SSEA 6,969,000 209,070
X EaSESN 315,000 9,450
LB MI N T LML SES A 79,789,000 2,393,670
SEANHIISHAMEASSES A 12,100,000 363,000
BFHETAXN AL SE A 363,000 10,890

M2 X N -Asoae SAs "M - ASole SAA 2 20

M3 & eS| 0lidlbl= 85,453,052 @22 &tCk.
(Letolibibl 9,294,000 &, Mol - HHS X 0IHIHl 76,159,052% &)




